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Important Point:

problem into more simpler ones.

I. B. P. is an algorithm that breaks one complicated
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Po\int: Integration of functions is hard. Not every
integral can be solved by hand.

Sx3

o 51
% _
@SS%EQ S
e
w= 5x3. dvze T dy
J/ o\n
2 E))("2 '\"?n\g owa_ has R cord_ —%BW/\ S‘
dn= 5% (JX \{:\Se/ Ql)k & ch\\b’ sy iy ]V\T%WIJ < vie
c s X
o 55&1;7( - oxe' T {28 Txdy /
AAAAAN D ) i
R & Pag eosior Thew bofor_ 7
w=se "t dv= I Crnk uosilo
~\/\,\\‘3 RS snm\la\f Atm Q)&V\bu\j

Jx \ >
dn=ge SX N

nuwen (.c&

eV



LIPET

SD\/\«L?‘B&% = X\Y\)(—SX’—\?—(&x
\/'\,——J
w= Imx)  dv=dX -

E/\
dusLay vEx = = Svde Txlbelex~C
L

Ll = Ll + el =1 = ey

* %
E{L S)(&Qx Qh( = xaﬁxﬂgef}y(dvﬁ - Xaex_,iaxe —ge_ Ad

v
! 2e¥
W= X dv = ef{x Cony e
b o T.B#® mu H. e
du =2 A,\F = e o~ S bl

= ok o= @X I«

QAu = %A“ N — Q_*

Point: M
sometimes multiple 1.B.P.’s are necessary’ _ XAQ,X _ 3\)( Q\F A BQ\( + C

= e (kP +d) + C




	Untitled
	Untitled
	Untitled

